
LP22911 HP 43" Boom for Gator Sprayers 

HP 43" Boom for Gator Sprayers

1/07/15

ITEM # PART # DESCRIPTION QTY.

1 ST43011 3/8" Elbow  Fitting w/Nut 2

2 ST43410 Spray Tip TF-VP3 3

3 ST43192 3/8 Barbed Tee, w/ Nut 2

4 ST65014 5/16 x 1 Flange Bolt 2

5 ST65008 5/16 Flange Nut 2

6 ST43495 Gator Boom 2

7 ST43012 Tip Fiting Cap Nut 3

8 ST43016 Spray Tip Screen 3

9 ST43286 Hose, Black Rubber 3/8", Per Foot 5ft

1/07/15Revised: 

PIN Prefixes:             Model Number                       Description                                                    PIN Prefix

(To file a warranty claim for this product, you will need to enter this PIN Prefix into correct field on the JD WIN system.)

1

8

2

4

3

3

6

6
5

8

2

7

8

2

7

9

4

5

1

7


